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Book!et A (28 % 2 marks)

For each queston flom 1 to 28 four Oimdns are given. Onie of ther i the comeet

answer. Make your chmce (1 2 3 or 4) Shade your answer on the 0"‘t§qa! Answer‘

Sheet

1 The table shows the charactenst:cs of four thmgs A FB C and D
A tack («f ) md:cates the’ presence of the chara'ctenst:c

Thing needs éir, food | can m?k‘é:‘ can rﬁgve fom | has four
and water food place to place iegs
A 4 Voo e
5 ' —
G Y v . .
D v v

Which of the following correctly represents A, B, C and D?

A B c D
{1) bee hibiscus plant chair ‘ giraffe
(2) giraffe chair hibiscus plant bee
{3) chair bee giraffe hibiscus plant
(4) giratie chair bee hibiscus plant

CHS/Sc/PSEYYE/Bookiet A/2022 1
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2 . Study the diagram. .
plants
I
f R
non-flowering l flowering
water ’ land water land
P Q R S
Plant G reproduces from Spores and grows on the branches of a tall free.
Based on the characteristics of plant G, which letter, P.Q RorsS,
represents plant G? ’
(h P
@ Q
@ R
4 8
3 The diagram shows the human digestive system.
Z -
Which of the following Correctly shows the functions of the organs?
| absorption of digested food T absorption of water
) L:m MWWMMmﬁrmmmmm_mmmm-meMMMAX
2 | X Y
@ Ty Z
@ T T B
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4 _\Nhtch plant part is not matched correctly to rts funcﬁons?

o
(©
@

)

p!ant part functnon

‘ seed to grow into a new p!ant

bj j 'leaf' to make food for the plant _ s

) Stem ' .;to anchor the p!ant fi rmly to the ground _‘
Toot

to absorb water and mrneral salts from the sox! o

5  The diagrams show the stages of the development of a seed.

4

o

Which of the following shows the correct order of growth of a seed?

)
(2)
)

CHS/Sc/PSIEYE/Bookiet A/2022

B—A—C —D
B—»A—D —C
B—»D-—> A —C
B—+D-—>C — A
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-6 Squirrels store a large number of nuts during winter. The squirrels often .
eat the nuts haifway betause-the botton part of the nut tastes bitter. As
the winter tums to spring, these half.eaten nuts can still germinate and
grow into young plants,

whoie nut

half-eaten nut

baby plant

Which are possible reasons why the haif-eaten nuts can still germinate
and grow into young plants?

They receive light to germinate,

There is food stored for the young plant.

The baby plant is found at the bottom of each nut.

There is warmth for germination when winter turns to spring.

SO w>»

(1} Aand Conly
(2) Band D only
(3) B, CandDonly
#) ABCandD

CHS/SC/PS/EYEfBooklet A/2022 4

More papers available at www.testpapersfree.com




7 Raja cordutted an experiment using twio inséct-pollinated fiowers, P and:

+ Q, from thie samie plant. THe diagrém shows the parts of one flower.

He removed a part from flower P and another part from flower Q. He
recorded his observations of the development of the flower over time.

flower dévelops into-a fruit
P yes
Q no

Which of the following shows the parts removed from the flowers?

(1
@)
(3)
@)

flower P flower Q
A B
C D
C A
8 D

CHS/Sc/PS/EYE/Booklet AJ2022
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8 The diagrams show.the human and the:plant reproductive systems. .

hurnan reproductive
system

plant reproductive
system

Which statement is correct about both reproductive systems?

(M
2
Q)
4

part __statement
Aand C | Both:parls produce female i‘éii’rbducti_ve cells.
Aand D | Both patts need to be present for fertilisation to occur.
Band C | Both parts produce male reproductive cells,
Band D

The male and female reproductive cells fuse in these parts.

9  The table shows some characteristics of Jane's parents and herself.

Based on the table, how man

has dimples | able to roll tongue long hair
Jane’s father No Yes No
Jane's mother Yes No Yes
Jane Yes Yes No

each of her parents?

(1)
(2)
3
4)

one from father and one from mother

one from father and two from mother

two from father and one from mother
two from father and two from mother

CHS/Sc/PS/EYE/Booklet A/2022
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0. . The diaigram shoWs howwatér andfood &ré trahsported ina plant? -

S: L . ‘. - :_;-‘i Y
~ _ . g Key :

e —— | water o>
S s stem | '

T ..: . ;';"“ \\"“ food ..__.’ ..

v b —

Which of the following correctly shows the parts of the plant?

R S T
4)) roots flowers leaves
(2) leéves roots flowes
{3) flowers leaves roots
(4) flowers roots leaves

11 The diagram shows how food and various gases are transported in the human
body.

food —— | digestive system

!

system Q
v
v 1 gasP
surroaui?ding ...... » | systemR | ----- - exhaled air

What are systems Q and R and gas P?

system Q system R gasP
&) circulatory respiratory oxygen
(2) respiratory circulatory oxygen
‘(3) circulatory respiratory carbon dioxide
4 « respiratory circulatory. carbon dioxide
CHSISc/PSIEYE/Booklet A2022 7
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12 Diagrams 1 and 2 show how gases ‘are transpo_r"tgd.f_;iq;zt,!:\_e,sgj_gicu[at_ow‘
SRR system af a ﬁsh anda human respecnve!y o -

3
.1\ .
heart
. N
-
other parts of the body — - other parts of the body |
diagram 1 diagram 2

Based on the diagrams, which statement(s) is/are correct?

A Afish has a single circulation but a human has a double circulation.

B Exchange of gases takes place in the gills for the fish and lungs for
the human.

C The human circulatory system transports substances around the
body but the fish circutatory system does not-transport-substances
around the body.

(1) Aonly

(2) AandBonly

{3) BandConly

4 A BandC

CHS/ScIPS/EYE/Booklet A/2022 8
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13 The diagram shows two cells.

nucleus

cytoplasm

chioroplast
-l

cell membrane

Which part is labelled correctly?

(1} nucleus

(2) cytoplasm

(3) chloropiast

(4) cell membrane

14 The table shows the characteristics of two cells, G and H.
A tick (v} indicates the presence of the characteristic.

parts of the cell cell G cell H
cell wall v
nucleus I v v
chioroplast
cell membrane 4 v

Which of the following correctly represents cells G and H?

S ETTTTTT S
(N cheek cell rcet cell
2) root cell cheek cell
{(3) root cefl leaf cell
(4) leaf cell i cheek cell
CHSISc/PS/EYE/Bocklet A2022 8
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- f 0 takenin

- lighty -

| substance B
taken in

" Jsubstance ¢ |

presence-of { -

| substance D
givenout

Which of the following correctly identifies substances A 8,C aﬁd D?

substance A substance B substance C substance D
(1 food " water oxygen carbon dioxide
(2) oxygen food carbon dioxide water
(3) | carbon dioxide | water food oxygen
(4) | carbon dioxide food oxygen water

16 Wei Yang plucked a leaf from a plant and placed it in a beaker of hot

water.

leaf ——

hot water —

bubbles

He observed that the bubbles formed only on the upper surface of the

leaf.

Which statement is correct?

M
the leaf.
(2
leaf.
(3)
lower surface.
(4)
upper surface.
CHS/Se/PSIEYE/Bookiet A/2022 10

Bubbles formed in the water and landed on the upper surface of
Air escaped through tiny openings found on both surfaces of the
The feaf had tiny openings on the upper surface byt not on the

Air entered the lower surface of the leaf and escaped through the
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17 Pete painted the glass jar black and watered the plant before placing the
set-up in the sun. He measured the amount of oxygen in the glass jar from

7 amto 7 pm,

plant —

plastic bag —

glass jar
painted
black

Which graph shows how the amount of oxygen in the glass jar changed

from 7 amto 7 pm?

(1)
. amount of oxygen
$ - » time
7am 12pm 7pm
(3)
amount of oxygen
F )
i
L i » lime
7am 12pm 7pm

CHS/Sc/PSIEYE/Bookiet A/2022 11

(2)

amount of oxygen

t } - Hme
7am 12pm 7pm

amount of oxygen

,/
i
;

o
|
!
|

[N SSRGS WS time

7am 12pm 7pm
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8, would affect the rate of photosynthesis.
for the.four plants. EERAPE

o »1_':8"';BeVizwamedﬁtoﬁnd OMWaddlngfem&spQQfmﬁ

o "amoum-of'light'(units) 4000 f -
| amount of fertifiser (g |~ 0

Wich two plants shouidshe use for herexpenment?
(1) PandR
(2) Pand$
(3) QahdR
4y Qand S

18 The diagram shows a leafon a plant. At the start of the experiment, there
was no food on the leaf.

white area
green area

The plant was then put in the sun. After several hours, the leaf was plucked
and the biack papers were removed. The leaf was tested for food,

Which part(s), W, X, Y and Z, is/are food mostly found?

{1) Wonly
{2} Xonly
{3) Wand X only
(4) YandZonly

CHS/S/PS/EY EfBooklet A/2022 i2
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. 20 Five magnets are arranged as shown.

[A Blc

F|G H|X Y |

Which arrangement is not possible?

M
[A B X Y|
(2)
A BJE
F| X Y |
(3)
// D|G
.
\W_jlf_t
(4)
E{C
FID
CHS/Sc/PS/EYE/Booklet A/2022 13
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21 Sty the dgram.

o waler (130 cm?)

tap —+&

‘sealed container  *

Mayah used the tap to remove 30 cm? of w.ater_; She then used the
pump to add 20 em? of air into the container. 3 ,
What was the final volume of air in the container? |

(1) 50ocmd
) 70cm?
3y 80cmd
{(4) 100 cm?

CHS/Sc/PS/EYE/Booklet 472022 14
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22 Shapes P, Q and R are made of cardboard. They are ptaced at different

distances from the torch.

| ——

]

torch

The shapes of the objects are as shown. -

screen

Which of the following correctly represents shapes, P, Q and R?

P Q

R

N

3)

{4)

CHS/Sc/P5/EYE/Booklet A/2022 15
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23 Abeakerof ice was healed for 30 minutes and then left on the table fo cool o -

. room temperature. The changes inthe temperature wert recorded on a graph.

~ Which graph correctly shows the changes in the temperature over a period of

) @)

temperature (°C) temperature (":C)‘. .

100+ 100+~

o

] - . 0
30 time: (min) 3'0 time {min)

(3) 4

temperature {°C) temperature (°C)
J

100 - 100+

0
30 time (min) 30

time {min)

CHSISCIPS/EYEIBooklet A/2022 18
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24  Study the djagram. -

water conservation

| |
X Z
- making of NEWater - using rainwater to wash
the floors
What do X and Z represent?
X Y4
1) recycling reducing
(2) reducing reusing
(3) reusing recycling
(4) recycling reusing

25  The table shows the melting and boiling points of substances A, B and

C.
i substance meiting point (°C) boiling point (°C) !
: A 42 78

8 28 63

C 54 80

At which temperature will the three substances be in the same state?

(1) 32°C
{2) 80°C
(3) 75°C -
{4y  80°C

\

CHS/ISe/PS/EYE/Booklet AJ2622
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| "A use alr-condmoners :
. B use energy-savmg light bulbs
" TC switching on the water heater only when you need it

D swrtchmg on the electncal appliances when. they are.not in use

{1} AandB only

" (2) BandGonly

(3 A CandDonly-
(4) B,CandD.only

27 Bulbs D, E and F and switches P, Q and R are connected in a circuit as shown.

All the components in the circuit are working properly.

26 Whlch of ihe fol!owmg act:ons can we Iake to conse:ve eiectncnty’? :

D
P
I e
1
\Q

E

F R
Which of the following is correct?

Does the bulb light up? Switch
D E F P Q R

(! yes yes | no closed closed open
2) no yes no open closed open
(3) yes no yes closed open closed
{4) no no yes open open closed

CHS/Sc/PS/EYE/Booklet A2022 18
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28  Suling wants to find out how thenumber of battedes will ‘affect the
brightness of the bulbs.

9 —( X

circuit R circuit S

il |

- R—

circuit T circuit U

Which circuits should she use for her experiment?

(1} Rand$
(2) RandlU
(3) SeandU
4) TandU
End of Booklet A
CHS/ISc/PS/EYE/Booklet A/2022 19
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Booklet B (44 marks)

For questions 29 to 41, write your answers in this booklet.
The number of marks available is shown in brackets { ] at the end of each question
or part question, {44 marks)

29 Study the diagram.

animals )
i l
3 stages in their life cycle 4 stages in their life cycle
i [
| i 1 |
lay eggs lay eggs lay eggs lay eggs
in water onh land in water on land
[ | | I
X cockroach Y butterfly

{a) Based on the diagram, state one difference between animals X and Y. [1]

The graph shows the mass of a beetle at different stages of its life cycle.

mass 4
of
D
beetle c
B
A
.____/
] { } > time )

1

(b) Name stage C. Give a reason why there is no gain in mass during
stage C. (1

{Go on to the next page)

SCORE

CHS/SAPS/EYE/Bookiet B/2022 1
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o 30 SNa observed plants P Q and R growmg on a plece of land as shown in |

dnagram 1. Afterafew months, he wssted :he same pxece of land and made
the observatxons shown in dsagram 2

~ diagram 2
Key
A plant P s direction of water flow
¥ plantQ —»  direction of wind
® plantR

(a) Based on the physical characteristics of the three fruits shown, which

fruit is likely to be the fruit of plant Q? Put a tick (¥} in the appropriate
box.

[

(b) Explain your choice in {a).

{(c) Explain why'it is important for seeds to be dispersed.

(1

{t30 on to the next page)

-

SCORE
CHS/Sc/P5/EY E/Bookiet B/2022
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31 The diagram shows the direction 6f bloot flow in some parts of the human

luan

all other parts of the
body

{a) 'Which arrow, P, Q, R or S, represents the flow of blood that contains
the greatest amount of carbon dioxide? Give a reason. 1

{Go on to the next page)

SCORE >

CHS/Sc/PS/EYE/Bookiet B/2022 3
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L Cpntihue from Qqes_tiqn 31 |
Muthuwaniw toﬁnd out how!‘u pulse rate wouldchange thhd:fferent o
activities. He recorded his pulse rate immediately after each activity in the

activity | pulse rate per minute
O e

18

w2 O|

(b) Suggest one variable that Mu‘thu' had to keépziddﬁstant 1]

(c) Muthu’s pulse rate at rest was 65 beats per minute. Explain why his
pulse rate increased when doing activity S. {2}

) (Go on to the next page)

SCORE
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32 Jasmine wanted to find out how different coloured lights affect the rate of
photosynthesis. She set up a tank as shown in a dark room. She then
introduced some fish into each section with the same amount of water plant.

black plastic sheets
blue light red light
/1N /1IN
plant
air bubble
fish ——

section A section B section C

(a) Explain why the fish were found in sections with blue and red lights. 1]

{b) Which coloured light{s) could be used for photosynthesis? (1]

{c) Jasmine's teacher suggested that she repeated her experiment with
the same set-up. Why did her teacher say that? 1]

{Go on to the next page)

SCORE |
/3!

S
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Continue from question 32

Jasmine set up another experiment as shown in diagram 1 to find out how
the rale of photosynthesis of a plant is: affected by light intensity. Diagram 2
shows some bubbles observed in the test tube at the end of the experiment.

lamp  _water
_ test tube
- = ' beaker
’ plant
diagram 1 diagram 2

She recorded the number of bubbles produced per minute.

light intensity (units) number of bubbles
produced per minute
10 1
20 3
30 4
40 5
50 . -6

{d) State the relationship between the light intensity and the rate of
photosynthesis. [1]

(e) Suggest one other change Jasmine could make to the set-up in order -
to collect more bubbles. M

s {Go on to the next page)

SCORE
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33 Huimin placed two similar plants, A and B, in two identical pots containing
the same amount of blue-coloured water. She made a 2-cm cut to the stem
of plant A and a 1-cm cut to the stem of plant B.

2-cm 1-cm
outer ring outer ring
removed removed

plant A plant B

A day later, she noticed flower A remained white while flower B had turned
blue.

(a) Explain why flower A remained white. 1

(b) Huimin also found that tne stem below the cut section of plants A and
B shrivelied after a few days. Explain why. {1

{c) Suggest a control set-up. {1

{Go on to the next page)

! SCORE /}

J
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She recorded the mass that each matercat could hold before it broke inthe

tab!e as shown. o . E T
Material MaSs; of'bloéks each material o&uld-ﬁold beforé it broke (g)
Joo 1200
K o 2600
L » ____ %00
(a) State the property that Chitra was teéting. 1}

" (b) Put a tick (+') in the box(es) below to indicate the changed variable. n

varables changed

type of material

mass of blocks

thickness of material

(¢} * Which material should Chitra choose to make a chair?
Explain why. i1

{Go on {o the next page)

SCORE
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+ 35 “DEve'was given an’iron” bai e barmégiiet: ahd'a Bowl of iron filings as -
shown. His teacher asked him to pick tip the iron filings from the bow! using
the iron bar. He obseryed that the iron bar could not pick up any iron filings.

~ iron bar " bar magnet a bowl of iron filings

(a) Describe how he coukd magnetise the iron bar using the bar magnet
so that he could pick up the iron filings from the bowl. 2]

(b) Dave then decided to use a glass rod instead of the iron bar for part
(a). However, the method could not work. Explain why. {1

Next, his teacher gave him object X. She told him to put the bar magnet and
object X near to each other. He observed that object X was attracted to the
bar magnet as shown in the diagram.

object X —1— N —— bar magnet

(c) Dave concluded that object X was a magnet. Do you agree with him?
Give a reason. M

{Go on to the next page)

SCORE e
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.3 Junweiplaced a baloon nto aplesti botte, -

(&) Junwei tred infating the'balloon using the air pbimp but found it dificult

~ {odo so. Explain why, -

(b) Without adding or removing anything in the set-up, what could Junwei
do to make it easier for him to inflate the balloon inside the plastic
botttle? :

(¢} Explain your answer in part (b).

{Go on to the next page)

e

SCCRE 7 ‘
3

CHSISU/PSIEYEBooklel 8/2022 10

More papers available at www.testpapersfree.com

g

i1

BP-425




37 Study the set-up.

retort stand

table

The table shows the results of the experiment.

distance of object from torch length of shadow cast on the table
(em) {cm)
10 7
20 15
30 22

(a) What was the aim of the experiment?

(b) Based on the experiment, why was the shadow formed on the table?

{c) Give a reason how keeping the angle of the torch shining at the object

constant make the experiment a fair test

CHS/Sc/P5/EYE/Booklet B/2022
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{Go on to the next page)
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o 38 Ahmad had three rods A B and C made of d:ffe:ent matenals When he

- touched: the rods with hxs hands;frod A felt the coldest foi!owed by rod C
g _andthenrodB SRS , .

o ,(a) Gwe a reason why Ahma‘d shandfett ééld"Whén he t‘ouched the rods. [1]

Then, Abmad heated the rods to 90°C He placed each rod into a beaker of

waler.
rod A rod B rod C
100m! 100m} 100mi}
waler at water at water at
5°C 5°C 5°C
beaker X beaker Y beaker Z

He left the beakers in his room and measured the temperature of water in
each beaker over a period of time. The graph shows the results.

temperature (°C)
'y

+ time {min)

{(b) Based on the resuits, which rod should be placed in 3 cup of hot tea o
cool the tea the fastest? Explain why. {21

(Go an to the next page)
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39 Mrs Chen took a freshly-baked cake out of the hot oven and :mmedlately
placed it in a glass container as shown,

glass container

rjjjjjazi-—-.__ﬂeguybakedcake

Seme water droplets were observed on the inner surface of the glass
container a few minutes later.

(a) Explain how the droplets of water were formed. {2]

Mrs Chen and her daughter then baked another cake and left it to cool in
the kitchen for half an hour before putting it in another glass container.

(b) Compared to part (a), would the amount of water droplets observed on
the inner surface of the glass container increase, decrease or remain
the same a few minutes after the cake was placed in the glass
container? Explain your answer. {1

(Go on to the next page

.

)
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. Continue from question 3

~After the baking :
. tied her wet hair

s daughter Washed her hatr Then, she

- hait let
- - down

diagram 1 o B diagram 2

(¢} Mrs Chen told her that her hair would dry faster if she let it down as
shown in diagram 2. Do you agree with her mother? Expiain why. {1}

(d) State another way the daughter could dry her hair faster. M

(Go on to the next page)

SCORE
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40 The graphs show the relationship between the number of bulbs and the -

brightness of the bulbs in circuit A and ¢

are identical,

>

brightness 4
of buib 204
(unit) .
18+-—

10111771

brightness 4

of bulb
(unit)

. 5 |

no. of

T ‘2:‘”
circuit A

1 [

3

~ bulbs

15
10

ircuit B. All the bulbs and batteries

circuit B

3

s no. of
bulbs

(a) Based onthe above graphs, state the arrangement of the bulbs in each

of the circuits.

circuit A:

circuit B:

{b) Complete the circuit diagram of circuit B in the box.
The batteries have been drawn for you.

{1

{1

CHS/Sc/PSIEYE/Bookiet B/2022
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{Go on to the nexi page)
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41 Jack made a ciruit miaze wilh sirps of plastic on a cardboard as shown
. The four comers labelled P, O, R and S were made of aluminium foll.

P

4

\

= |5

- 4| s |

contactpoint " contactpoint
el 3 o

+L]..' +

(a) When Jack clipped the contact points to corners Q and S in the circuit
maze, the bulb did not light up. Explain why. 4]

(b) Suggest what Jack shouid do to solve the problem in part (a). {1]

(¢} Once Jack had solved the problem, he clipped the contact points to
corners R and S. He noticed that the bulb stilt did not light up. Explain
why. M

End of Booklet B
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Booklet B
Q29 | (a) Animal X has 3-stage life cycle but animal Y has 4-stage life
cycle.
(b) Pupa stage. The pupa does not eat.
Q3o
(a) ™
{b) Fruit Q has hook-like structures that can hook onto the body
covering of animals or human clothing. The fruit loosens and
drops off when the animal moves to different locations. ;
(¢} This is to reduce overcrowding so that the young plants and §
i the adult plant do not compete for sunlight, water, nutrients |
and space. - :
: Q31 . (a) Arrow P. Blood rich in carbon dioxide produced by all parts
\ of the body is transported to the heart and then the lungs to be
exhaled.
{b) The duration for each activity/the time he took to do for
each activity.
{c} His heart needs to pump harder to carry blood faster to
supply more oxygen and more digested food to various parts of
the body to release more energy.
Q32 | {a) The plants with blue and red lights could carry out
photosynthesis and produced oxygen for the fish.
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(b) blue and red lights ,
{c) To ensure that the results are more reliable.
(d) As the light intensity increases, the photosynthesis also
increases.
{e) — add more water plants
- add baking soda where water plant is

Q33 | {a) The water-carrying tubes of plant A were removed so the
blue-coloured water absorbed by the roots could not be
transported to the flower.
(b} As the food-carrying tubes were cut off, food made by the
leaves could not be transported to the other parts of the plant
below the cut/roots.
{c) A similar set-up with no cuts on the plant.

Q34 | (a) strength
(b) tick : type of material
(c) Material K. M%terial K could hold the greatest mass of blocks
before it broke so«it was the strongest material.

1 Q35 | [a) Stroke the iron bar with one pole of the magnet repeatedly.

{b) Glass is a non-magentic material so it cannot ba magnetised.

| (c} No. There was no repulsion.

1 Q36 | (a) There was air in the bottle and air occupies space.

: {b} He could poke a hole in the plastic bottle, |
{c} The air in the bottle could escape from the plastic bottle so
that the balloon could take up the space previously occupied by

1 ! the air in the bottle. f

Q37 | {a) To find out how the distance of object from the torch affects

3 the lenth of shadow cast on the table.

(b) Light travels in a straight line. The light from the torch was
blocked by the object, causing the shadow to be formed on the |

' table. g '

_ i {c) To ensure that the object received the same amount of light.

Q38 | (a) Ahmad’s hand lost heat to the rods.
{b} Rod A. The temperature of water in the beaker increased the
fastest so rod A was the best conductor of heat as it conducted
' the heat away from the hot tea to the rod the fastest.
Q39 | {a) The warm water vapour from the cake then came into

contact with the cooler inner surface of the glass container, lost
heat and condensed to form water droplets. l'
(b} Decrease. Some of the water would have evaporated from
the cake so less water vapour couid condense

!

~t
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{d) She could dry hér hair wnth a dryer

o ’-Qad

1 (a) Circuit A : series
| Cire itB: parallel
Q41 (a) The plast:c str:ps were. e!ectncal insulators so there was an

open circuit and electric current could not flow through the

“circuit,

(b) Replace the plastlc strips with metal strips.

“{c) The strips were not touching each other, so there is still an

opencircuit so electric current could not flow through the
circuit.
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(c) Yes. The exposed surface area of the wet haxr would be ‘ : i
b .greater so the rate of evaporat:on of water would be faster. _
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